= A
N = 0 & AF S 99 N A
20228 = 20l A LEHSH EAHAE S
EX: sH3Es
HE: MotaE +EBEl AZe 2
&?e: =283 ES (9 ® =)
4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
SAE S 19,160, 153 15,648,977 3,511,176
= 5,216,249
Jl 75,938
= 2,574,333
= 11,293,633
Mol &2 Tt 25 1,195,248 1,891,026 N695,778
Jl 75,938
o 300,000
= 819,310
LEEH B35 959,328 1,844,606 N 885,278
J| 75,938
o= 300,000
= 583,390
HRLLH =EEA 11,000 14,000 A 3,000
201 et | 8,500 8,500 0
01 AR 22l ] 3,500 3,500 0
O&tdeol stotsts =& 3,500,000 =14l 3,500
02 2224 H| 5,000 5,000 0
OENLBABIHS 223
5,000,000 =1 5,000
203 SR F & 2,500 2,500 0
03 AIZH =X 2= X H| 2,500 2,500 0
O&td3sEs 9=& 2,500,000 1 2,500
FAQAEZUN(EX) 75,938 71,606 4,332
J| 75,938
207 I & 75,938 71,606 4,332
J| 75,938
01 g EAY| 75,938 71,606 4,332
OQE =22 A HE 0sHHE I}
55,000,000& =1 55,000
J| 55,000
OEssae tHE , A2 AIE 2LIHY
20,938,000& =1 20,938
J| 20,938
A QAHAZSF 12,000 15,000 A 3,000
207 A0 | 12,000 15,000 A 3,000
01 g EAH| 12,000 15,000 A 3,000
O+ szel %y¥a 2HY 89
12,000,000 = 1Al 12,000
S2HS MEGHE SFAS (XA 41,800 44,000 N 2,200
101 Q124 4| 21,000 15,000 6,000
04 JI2ZtHIZ2 2 NEES 21,000 15,000 6,000
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) 7,000,000& x33| 21,000
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01 At 22l 2,200 3,000 A 800
OFBILRZE 550,000& x4 2,200
02 2324l 9,600 10,000 A 400
Ox+=ZIFSANE, IHSE 3323
800,000& 1201 & 9,600
401 Al HIZ 2018 9,000 16,000 AT,000
01 A& HI 9,000 16,000 A7,000
O=243 MHictd =SIAMY BLIHY ZAEA
9,000,000 » 14 9,000
HX& MEjSHE SJAAY(HEAIY) 400,000 1,700,000 A 1,300,000
< 200,000
e 200,000
401 Al HIZ 201 8] 400,000 1,700,000 A 1,300,000
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= 200,000
01 A& HI 400,000 1,693,880 A 1,293,880
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5,000,000 » 14 5,000
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< 100,000
fia 300,000
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el QS E HEAL el (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EStEAAE D 500 500 0
301 LBt A= 500 500 0
12 JIEtE A2 500 500 0
OHEM AlD LA 50,000 103 500
KAMENH BHES 4,417,095 4,459,360 N42,265
= 118,999
& 1,345,933
= 2,952,163
ANoHsEd BA 2L 4,417,095 4,459,360 N42,265
= 118,999
o=t 1,345,933
= 2,952,163
OfMEE2 I (EX) 254,331 663,000 A 408,669
= 108,999
& 36,333
= 108,999
402 SI2F X201 M 254,331 553,000 A 298,669
= 108,999
& 36,333
= 108,999
02 CIZEXIE A EX (0| XM THL) 254,331 553,000 A 298,669
OOtM=2 Holu A (sIHRL)
254,331,000 1A 254,331
= 108,999
& 36,333
= 108,999
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~EHORY AFSE Y
3,000,000& =14l 3,000
—ZEC2HE ZEH| 2,000,000 =1 2,000
—JsZaEt 134 XN& S
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EX: sH3Es
Mz NHAMEHH B ES
G s EX e (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
101 @124 H] 20,000 39,000 A 19,000
= 10,000
& 6,000
= 4,000
04 JI2ZtHIZ2 2 NEE S 20,000 39,000 A 19,000
OMENH wetM= A 20,000,000 x14 20,000
= 10,000
= 6,000
= 4,000
MEfH WetM=E EIXAY 8,000 5,000 3,000
307 gizto| A 8,000 0 8,000
02 Q2B AMAIE E =X 8,000 0 8,000
OMEHH netME2 MAHAIY 8,000,000 =1 8,000
st H M2 ZAAAIY (HEAY) 9,052 16,860 AT,808
101 e1214| 6,552 6,360 192
04 JI2tHIZ22XNSESES 6,552 6,360 192
ONAHAZX MR (HEM=X) ol ==
1,000, 000& *33] 3,000
O AN 3&A KXl
74,0002 #4353 x 120 & 3,552
201 et 9| 2,500 2,500 0
01 AP 2t 2] d| 700 700 0]
O+ HWEM S&EA ARE 2
700,000 x 1 700
02 2324 1,800 1,800 0
O AN 3Z&A KXl
150,000 124 & 1,800
25 MEIZ22 LAY (HEAIY) 2,600,000 3,200,000 A 600,000
= 1,300,000
= 1,300,000
401 Al HI L £ 0HHI 2,600,000 3,200,000 A 600,000
& 1,300,000
= 1,300,000
01 Al& B 2,592,980 3,192,980 A 600,000
OYa =28 MHZ ZEANY
2,592,980,000% 14! 2,592,980
=} 1,300,000
= 1,292,980
03 A2 HH]| 7,020 7,020 0]
OUA =25 MEIZ22 XAHAY
2,600,000,000%0.27% 7,020
SA/AHAI A 22 1,218,012 0 1,218,012
401 AlEHIZL 2 0HY| 1,218,012 0 1,218,012
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AN EIESH
M GHMEH EES
& MHEd Bl (CHe &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,218,012 0 1,218,012
OLZELBAFSAIL HAHUH OHE HY L&
H S 1,218,012,000& 14 1,218,012
HAES AP =4 20,634 22,634 A 2,000
A ate| et 20,634 22,634 A 2,000
SZNEREZ FHE > 20,634 22,634 A 2,000
201 Let24dy] 17,634 17,634 0
01 At 22/l 9,834 9,834 0
OdMERE3 XM ME 5,200
- &Iz 400,000 »23| 800
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—SE2(UHEE) 800,000 *43| 3,200
OtMEREEg=s EReU SdHE
50,000& *x15J0 2~ *53| 3,750
OostgdieRg=s €8 As0lMb S 584
-3 08 22,0002 12 264
~XE0IH 222 802 *4,0002! 320
OHAMLLLS HANF 242
300,000& 14 300
02 =224l 7,800 7,800 0
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OdMERES DM LSS 7,000
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—-=5& 400,000& *43] 1,600
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303 L& 3 3,000 3,000 0
NEXE 3,000 3,000 0
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< 928,400
[ia 2,305,408
Hosdy 23 51,334 51,334 0
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s 6,534
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AN EIESH
M YPHE Hoed 248
2

S UoEad si2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— JBAEE #SXd 8223
2,000,000 » 14 2,000
301 LEHZ 1,500 3,500 A 2,000
09 HALAHIX RS 1,500 1,500 0
OJIZHsIHE &AL &K E&3 X2 1,500
— 0lHX ALEEHE 23] 400,000& *33| 1,200
— do=SE MEAdE 4F 25 40 21
=] 150, 000& 23] 300
JEABHERS XA (EX) 8,000 8,000 0
= 4,000
[ia 4,000
201 Let24d] 8,000 8,000 0
= 4,000
s 4,000
03 A2 S HI 8,000 8,000 0
OJEAEERZS UER3 XA
8,000,000& 14 8,000
= 4,000
s 4,000
IIZHSIUHS BAZOER AHB(EX) 35,900 40,000 A 4,100
= 17,950
< 7,180
[ia 10,770
301 LA F 35,900 40,000 A 4,100
= 17,950
= 7,180
s 10,770
12 JIEtE &= 35,900 40,000 A 4,100
OJI=H3siES $BAZET
35,900,000& »14! 35,900
= 17,950
< 7,180
s 10,770
NS BAZOER(EX) 200 358 A 158
= 100
[ia 100
301 LA F 200 358 A 158
= 100
[ia 100
12JE243 200 358 A 158
OXsx BFAZOEN 200,000& 14 200
= 100
i 100
2 ARI BHEINA NE=EH 19,510 18,943 567
201 €24 19,510 18,943 567
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AN EIESH
M YPHE Hoed 248
2

S UoEad si2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 4,510 2,000 2,510
O2IHEIA NEEE HR2FA 2,200
— 2SI NEEZ =
1,000,000& 14 1,000
— 2SI NEEZ I =H|
300,000 »4H 1,200
OHEIA MNZEX dsKRASAHA =2
23,100& = 100CH 2,310
02 2324l 15,000 16,943 21,943
OXsA 2 Me SEALAH FANES
1,500,000 =100 & 15,000
SHIARX HEIA H2AH(EX) 1,552,000 1,970,000 A 418,000
= 907,200
< 193,440
[ 451,360
301 LA S 960,000 640,000 320,000
= 576,000
< 115,200
e 268,800
12 JIEtE 43 960,000 640,000 320,000
OL=dRA ZIIHI XA
960,000,000 » 14 960,000
= 576,000
< 115,200
[ia 268,800
402 RIZ2EXt20l ™ 592,000 1,330,000 738,000
= 331,200
< 78,240
i 182,560
02 RIZEXt 2 AL EZ (OIS ) 592,000 1,330,000 A738,000
OL-ZRX OPF 25 X&
165,000, 000& 14 165,000
= 82,500
= 24,750
[ia 57,750
OPM-NOx SAIMZ2 & X 23 X&
15,000,000& 14 15,000
= 7,500
< 2,250
[ia 5,250
OAEII A OPF 22 XI& 22,000,000& » 14 22,000
= 13,200
= 2,640
s 6,160
OAHEIAH AAWH XI& 330,000,000 1 330,000
= 198,000
= 39,600
s 92,400
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLPG a2 Xt &Xt=7e XI& 60,000,000 14 60,000
= 30,000
= 9,000
s 21,000
OISR FOHKIA(212H) 1,908,000 1,522,000 386,000
= 1,071,000
= 251,100
[ia 585,900
402 RIZEXt20l ™ 1,908,000 1,522,000 386,000
= 1,071,000
< 251,100
[ 585,900
02 RIZEXt 2 AL EZ (01T ) 1,908,000 1,522,000 386,000
OHIIEEX FUHXE(B2H)
528,000,000 » 14 528,000
= 231,000
= 89,100
s 207,900
O&IISEX FUHXR(B2H)
1,380,000, 000& » 1 1,380,000
= 840,000
< 162,000
[ia 378,000
HIKSK AMXNA(S3) 95,000 138,000 243,000
= 21,000
e 74,000
405 XH&HE S| 95,000 138,000 A 43,000
= 21,000
e 74,000
01 et EFSFHSHI 95,000 138,000 A 43,000
OHIIEEXN FUHNE(S2)
55,000,000 » 14 55,000
= 7,000
[ia 48,000
O&IISEX FHAE(S2)
40,000,000& 14 40,000
= 14,000
[ia 26,000
&I OIEX E=Md 54,000 18,000 36,000
= 27,000
i 27,000
402 RIZEX20l ™ 54,000 18,000 36,000
= 27,000
e 27,000
02 RIZEXt 2 AL EZ (01X TS ) 54,000 18,000 36,000
OH&II0IEX ESALY 54,000,000& 14 54,000
= 27,000
s 27,000
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SN B#ABSD
HE: WHE HIIEY B
2

Ee: tolEtd X2el (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O MK &M SHMHQ ZAF L 2ZAI(EX) 50,600 52,400 A 1,800
= 22,200
= 28,400
101 Q124 H| 45,900 44,400 1,500
= 22,200
= 23,700
04 JI2ZtHIZ22NEES 45,900 44,400 1,500
OD0IMIHX ZAIS o1AH| 44,400
- 23 1,744 0002 x28 100 & 34,880
= 17,440
= 17,440
— X HZAH| 130,000& 22 1000 & 2,600
= 1,300
= 1,300
— AN3IEE 200,000 *2H 1000 & 4,000
= 2,000
= 2,000
— YESIHY| 800,000 x2H 1,600
= 800
o 800
— A2t =% 660,000 x2H 1,320
= 660
= 660
OO0IMIHX ZAIY &S0l 2 oyl
1,500,000& =1 1,500
201 et | 4,700 6,500 A 1,800
01 AP 2t 2| H| 2,200 3,400 A 1,200
OO0MHXL SHHP Z2AE2S 15 2L
1,200,000& =14 1,200
OO0MIHX ZAIY S0 2 24|
1,000,000& =14 1,000
02 2%l 2,500 3,100 A 600
ODIMIHX ZAl SEEH S KAl
2,500,000 =1 2,500
OMISX T 24,900 35,000 A 10,100
201 et 24,900 35,000 A 10,100
01 AR 2t2l ] 24,900 35,000 A 10,100
OO0MY X 0tA7 2 500& *15,0000H 7,500
OD0IMIHX 28 AIRE2 =& 6,400
— 0| Ml S X s g9 800,000 *83 6,400
O0MIHX HZ a2=X dh
550,000 x10 =2CH 11,000
NEE A=A BEZ2AY 6,000 13,000 AT7,000
= 3,600
& 720
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el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 1,680
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